Midterm exam

Ethan Poole
LING 120B: Syntax |

Note: You may use the textbook (Radford 2004) and your class notes on this
midterm exam. This test is not to be stored in a test bank.

| 1J 10 points

Please answer the following comprehension questions.

‘({ What is the grammatical category of table in the following sentence

and how do we know?
To table the discussion seemed like a good idea.
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L \ (b) Based on the following data alone, what differentiates English and
German, other than the identity of the words? (Hint: The heads are

underlined.)

(2) a. ...[that[Fritz [ should [ have [ eaten schnitzel 11111

b. ... [ dass [ Fritz [[[ Schnitzel gegessen ] haben ] soll
that  Fritz schnitzel eaten have  should

‘that Fritz should have eaten schnitzel’
Mo by, ooniiadt, oad Trwonds .
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/KL (c) What is the distributional difference between PRO and pro? (Hint:
Pro-drop languages also have PRO, so the difference is not between pro-

drop and non-pro-drop languages.) Your answer does not need to be
longer than one sentence.

A A 1 )
PRO A1 V) Fived to Amect 0t net niahest (00R

@/ Please list all of the constituents in the following structure (the su-
perscripts are only there to distinguish nodes with the same category

label): :
- B, a0 NP ’v -\.
3) TP g8, fis, N NG, g, s akd € 0F 5,
/\ 0, '\)92) {P
DP! T
D! N! T VP
@ Elvis wvill /\
\Y% DP?
el o
B N?

@ smakakor

(!{ Please also list all of the c—-command relations in the above structure
in (3).
Dh:N
N D
DS < T pe* Py N
2 DRt N
T: N0 VipPE 0N
0 D
\/: DPZ; 0 'N
PV
01! Nl
e 0
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Please indicate what principle or condition is violated by each of the following

structures:
3 DP
D N
% /l\
N or N
coffee tea

ot he DLy

CP
Lt
@ TP
@ /\
1K VP
Tns /\
v \% DP
¢ eat /\
0] D N
L an apple
N

wawg O ar Y
Ao ity 01 ox Ty

Eve

e

XP

GEN

P

N

Y

Z

w

<0 b e W

o Al
o- o
G b TP
(%] /\
DP, T
D N T VP
the cat Tns
\% DP;
watch
D N
@ Garfield
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e (ot Lk o eat hen, :
o oty W % 4050 Please complete the following two tasks: (i) Show the step-by-step derivation
~  for the sentence in (8), including all of the features (both ‘bullet’ and ‘plus

features). (ii) Justify each constituent that you posit with a constituency test

(e.g. coordination, substitution).

) MgRuELTe (0 )
(8) The cats like to eat lasagna. o?
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r i] 16 points

Please show the final structure for the sentence in (9); you only need to represent
the head-movement (‘plus’) features. You do not need to represent the selection
(‘bullet’) features, provide constituency tests, or show each derivational step. You
may treat out of as a single undecomposable P head.

(9) Georgia’s friend thinks that you should stay out-of the forest.

_00

i
S N |

0 I\ ¥ v b

3

ny N

0
' : O, sl My oDt Ane fored
6 't Rheok Tme A thet YO 5

Lrour)
(et}

Attiy dopping

Page 5 of 7




SJ 16 points

Please show the final structure for the sentence in (10); you only need to represent
the head-movement (‘plus’) features. You do not need to represent the selection
(‘bullet’) features, provide constituency tests, or show each derivational step.

(10)  Aren’t you planning for her to eat that slice of cheesecake?
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ﬂ 10 points

Hindi-Urdy has two words indicatin
apnaa and usk

W the binding conditions account for the distributio
of apnaa and uskaq in Hindi-Urdu. (

in (11) are not relevant for the probl

n
Note that the different forms of these words

em.) ]

()sFa <[ raam-n@[ [ aﬁ;ziw kitaab | parh-ii ] ]
Ram-grG APNAA  book
‘Ram read his book’

read-prv

v
T | raam-n@[ [ uskii@akitaab ] parh-ii ] ]
Ram-ErG USKAA  book
‘Ram read his book’

read-prv

W indeced
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